{S7L vd

431dINdWVY ¥43Mod

SNOILVIINNKNINOD-OVIa0Zz

1IN0 ON9 Vvd+

37NA0OW d3mod

934+ AN9 NI
S 89 L9 9 0L 08 ot ,
1no
NI
v}
11 Ly
Zy
Z4a bdl L ¥a
__.I_ | __
| |
€ 90 (%) 2
Vd+ 9 S 934+
2d mOlllm
y/l NOIN 100 Hd d0lVIN93Y ¥3mod 1 ¥/1 LNo
NI AZL+ POJ nIIIO;ﬁ, 1no
NYVANIA SNOILVDINNWWOD-JVIA0Z
*s3utpa

-9%0xd ye891 03 peal TITM Judwdadurajur AUy IUSSUOD INO
inoyltm‘iaed utr 1o Arroym 1ayitra‘Aixed piryil Kue o3 po
-SsOT2STp 10 pajuradax‘pardod 8q 30U ISnw JUSWUNDOP STYL




{S7L VYd

431417dWV ¥43IMO0d

SNOLLVOINNWINOD-OVIA0Z

)

_/
N

B 31NAOW H3IMOd iam—

| S gy e == - Cmned  bd  edeed

d0LVIN93Y ¥3IMOd

_
100 ¥d _
I

ﬂ

_

|
MMW%4J ....... oot 1--d

— 1 —

Jd €
d/1 Z
NI AZL+L

AYVIANIA SNOILVIOINNWNOD-JV1Ia0Z
*s3utps
-920xd Ted3ar 03 peoal TTTM Juawadurxyur AUy 3uasuod Ino
inoyitmiaed utr 1o ATToym 1ayzta‘A3xed patya Aue o3 pa
-SOTdsIp 10 pojutadar‘patdod 8q Jou 3IsSnuw JUSWNDOP STY]




o /ODIAC

TYPE NO. { ITEM NO. DESCRIPTION
530395 U-profile, UHF
MHW-720/1 | ICI 610045 Power Module 420-450MHz
MHW-720/2 | ICI1 610050 Power Module 450-470MHz
410003 PC-board
10 ohm R1 Resistor
10 ohm R3 Resistor
10 ohm R4 Resistor
18pF Trim | C7 | Capacitor
‘ 18pF Trim | C8 Capacitor
68pF Cer. | CI Capacitor
68pF Cer. | C4 Capacitor
470pF Cer.| C3 Capacitor
470pF Cer.| C6 Capacitor
100pF Poly| C2 Capacitor
100pF Poly| C5 Capacitor
DR1 Ferritbead
DR2 Ferritbead
Crystalsocket
Clips
Testpoint Tube
Turbular Rivet, ¢ 3,8x4
' Solderpin
Baffleplate
1,2nF 640704 Capacitor
Compount for TU-126
680025 Wire, silver plated CU 1,2mm
670010 Screw, M2x8
670090 Screw, M3x10
Screw, M3x7
670070 Screw, M3x3

Date
84.10.03.
POWER AMPLIFIER PA-7452 Comp. List No
Page 1/2

899.0020




o /ODIAC

TYPE NO. | ITEM NO. DESCRIPTION
670420 Nut, M3x2,5
410009 Power Regulator PR-7001
Date
84.10.03.
POWER AMPLIFIER PA-7452 Comp. List No
Page 2/ 2

899.0020




	img172
	img173
	img174
	img175

